eSS == A & B (=) % = =

HA4F3/1 BIRTE
BEX BERXi s z pid
=B 1TH 134 137 271
=& 2TH 136 143 279
] =B 3TH 81 74 155
=&k 4TH 69 69 138
=& 5TH 14 20 34
INEE 434 443 877
Bl HET 277 301 578
o E LS 210 210 420
X # Hr 240 277 517
INET 727 788 1,515
=& 5TH 123 148 271
3 B A AT 240 251 491
AN 165 160 325
INE 528 559 1,087
E £ HI 159 195 354
4 § T 689 874 1,563
B o4 Hr 111 123 234
INE 959 1,192 2,151
5 IR 549 552 1,101
F I 472 520 992
6 N R 1,019 1,105 2,124
INET 1,491 1,625 3,116
* H 303 343 646
R Hr 323 362 685
5 W 5 ET 357 407 764
= Il BT 495 492 987
NOB 195 214 409
INET 1,673 1,818 3,491
i 5h OHT 123 125 248
8 [ 4 W HT 255 267 522
B | HT 251 272 523
INE 629 664 1,293
9 7 B 192 194 386
10 Lt = H 1,523 1,570 3,093
11 Lt = H 2,777 3,016 5,793
12 £ % 539 556 1,095
13 & H 645 641 1,286
14 N & 598 598 1,196
15 B W M 192 177 369
16 = P 328 327 655
T E H 1,339 1,461 2,800
17 A I 236 339 575
INEF 1,575 1,800 3,375
18 = A 256 257 513
A I 69 65 134
19 m = 1,041 1,028 2,069
INEF 1,110 1,093 2,203
X & 50 57 107
AR 46 54 100
EE 135 144 279
20 £ H 136 155 291
= F 84 94 178
T = H 710 839 1,549
INET 1,161 1,343 2,504
17,886 19,213 37,099
5 z by

o h X Bl & §%F 4 = = 7,278 7,946 15,224
M T # 6,545 6,857 13,402
) = 4,063 4,410 8,473
Z= it 17,886 19,213 37,099




eSS == A & B (=) % = =

SAN3F1281817E
BEX BERXi s z pid
=B 1TH 134 137 271
=& 2TH 138 148 286
] =B 3TH 81 73 154
=&k 4TH 70 72 142
=& 5TH 15 20 35
INEE 438 450 888
Bl HET 275 296 571
o B O[E HT 212 214 426
X 14 H] 238 277 515
INEE 725 787 1,512
=& 5TH 122 149 271
3 B A AT 243 253 496
AN 163 159 322
INEE 528 561 1,089
E £ HI 153 192 345
4 § T 689 879 1,568
B o4 Hr 111 125 236
INE 953 1,196 2,149
5 R 553 560 1,113
§ i3 473 523 996
6 N R 1,026 1,109 2,135
INET 1,499 1,632 3,131
*x H 304 341 645
R Hr 327 368 695
5 WH Bz ET 361 413 774
= Il BT 496 486 982
NOB 193 211 404
INET 1,681 1,819 3,500
i 5h OHT 129 132 261
8 [ 4 W HT 258 271 529
B | HT 251 273 524
INET 638 676 1,314
9 By B 195 197 392
10 Lt = H 1,523 1,580 3,103
11 Lt = H 2,772 3,016 5,788
12 E] % 541 555 1,096
13 & H 650 645 1,295
14 N & 597 599 1,196
15 B 2 M 190 178 368
16 = P 333 327 660
T = H 1,337 1,464 2,801
17 A I 233 337 570
INEF 1,570 1,801 3,371
18 = A 255 259 514
A I 69 66 135
19 m = 1,053 1,034 2,087
INET 1,122 1,100 2,222
X & 50 56 106
AR 46 52 98
EE 136 144 280
20 £ H 136 155 291
= F 84 93 177
T = H 706 832 1,538
INEF 1,158 1,332 2,490
17,921 19,270 37,191
5 z RE

o h X Bl & §%F 4 = = 7,306 7,986 15,292
M T # 6,545 6,872 13,417
) = 4,070 4,412 8,482
Z= it 17,921 19,270 37,191




eSS == A & B (=) % = =

SHN3FE10818B81R%E
BEX BERXi s z pid
=B 1TH 134 138 272
=& 2TH 139 150 289
] =B 3TH 81 73 154
=&k 4TH 70 72 142
=& 5TH 15 20 35
INEE 439 453 892
Bl HET 277 297 574
o E LS 212 216 428
X 14 H] 238 278 516
INET 727 791 1,518
=& 5TH 123 148 271
3 B A AT 243 254 497
AN 165 159 324
INEE 531 561 1,092
E £ HI 152 188 340
4 § Tk 690 884 1,574
B o4 Hr 111 125 236
INEE 953 1,197 2,150
5 IR 559 561 1,120
§ i3 473 523 996
6 N R 1,027 1,109 2,136
INET 1,500 1,632 3,132
* H 303 342 645
R Hr 332 368 700
- W 5 ET 368 415 783
= Il BT 498 485 983
NOB 196 211 407
INET 1,697 1,821 3,518
i 5h OHT 127 131 258
8 [ 4 W HT 258 271 529
B | HT 253 274 527
INET 638 676 1,314
9 By B 196 197 393
10 Lt = H 1,526 1,589 3,115
11 Lt = H 2,772 3,016 5,788
12 £ % 543 554 1,097
13 & H 649 647 1,296
14 N & 597 599 1,196
15 B W M 192 181 373
16 = P 334 330 664
T E H 1,336 1,466 2,802
17 A I 232 340 572
INEF 1,568 1,806 3,374
18 = A 255 259 514
A I 69 66 135
19 m = 1,048 1,036 2,084
INET 1,117 1,102 2,219
X & 50 56 106
AR 46 52 98
EE 137 144 281
20 £ H 135 157 292
= F 84 94 178
T = H 706 830 1,536
INEF 1,158 1,333 2,491
17,951 19,305 37,256
5 z RE

o h X Bl & §%F 4 = = 7,336 7,997 15,333
M T # 6,551 6,887 13,438
) = 4,064 4,421 8,485
Z= it 17,951 19,305 37,256




= =S A e =B (=) % =]
S[A3FEO/1 BIRE
S = X S i
=& 1TH 136 139 275
=¥ 2TH 139 151 290
= 3 TBH 81 71 152
=k 4 TH 70 73 143
=5 TH 15 19 34
INET 441 453 894
oW HT 278 297 575
) 211 218 429
X # H 234 281 515
INET 723 796 1,519
B 5TH 126 149 275
B 4 H 247 259 506
& 5 H 165 161 326
INET 538 569 1,107
B L 153 187 340
F T 692 887 1,579
B/ s B 112 126 238
INET 957 1,200 2,157
GRS 560 562 1,122
F T 472 526 998
MK 1,029 1,112 2,141
INET 1,501 1,638 3,139
* B 307 347 654
|’ H 334 371 705
) 369 414 783
= Il BT 496 485 981
N OB 196 211 407
INET 1,702 1,828 3,530
B 127 133 260
m o4 W T 257 271 528
i & HT 255 276 531
INET 639 680 1,319
BB 197 197 394
10 rE H 1,526 1,586 3,112
11 L EH 2,780 3,016 5,796
12 E4] E3 543 552 1,095
13 & H 651 650 1,301
14 I W 594 601 1,195
15 B L M 191 180 371
16 = B 333 335 668
T =E H 1,333 1,471 2,804
7 A I 234 338 572
INET 1,567 1,809 3,376
= [ 255 259 514
A I 69 65 134
nm H 1,053 1,037 2,090
INET 1,122 1,102 2,224
N A 50 58 108
R 44 52 96
e 137 144 281
£ H 135 157 292
= F 85 94 179
T & H 705 828 1,533
INET 1,156 1,333 2,489
17,976 19,346 37,322
s i
o ith X I & £% 3 1 = I 7,352 8,033 15,385
i i 6,557 6,886 13,443
%) = 4,067 4,427 8,494
ES i 17,976 19,346 37,322




eSS == A & B (=) % = =

SAN3FE6/1281RE
BEX BERXi s z pid
=B 1TH 135 143 278
=& 2TH 139 150 289
] =B 3TH 85 72 157
=&k 4TH 71 71 142
=& 5TH 15 20 35
INEE 445 456 901
LS 284 302 586
o B O[E HT 214 222 436
X 14 H] 236 279 515
INEE 734 803 1,537
=& 5TH 123 150 273
3 B A AT 247 259 506
AN 167 164 331
INEE 537 573 1,110
E £ HI 153 186 339
4 § Tk 692 892 1,584
B o4 Hr 115 126 241
INEE 960 1,204 2,164
5 IR 564 562 1,126
§ i3 467 533 1,000
6 N R 1,042 1,126 2,168
INET 1,509 1,659 3,168
* H 307 345 652
R HT 339 379 718
- W 5 ET 376 417 793
= Il BT 497 483 980
X A 196 210 406
INET 1,715 1,834 3,549
i 5h OHT 128 135 263
8 @ 4 W HT 261 274 535
B | HT 254 279 533
INET 643 688 1,331
9 7 B 199 203 402
10 Lt = H 1,534 1,595 3,129
11 Lt = H 2,761 3,009 5,770
12 E] % 550 556 1,106
13 & H 650 646 1,296
14 N & 599 604 1,203
15 B W M 194 183 377
16 = P 338 334 672
T = H 1,341 1,471 2,812
17 A I 235 342 577
INEF 1,576 1,813 3,389
18 = A 257 263 520
A I 69 63 132
19 m = 1,054 1,035 2,089
INEF 1,123 1,098 2,221
X & 51 58 109
IR 43 51 94
EE 138 147 285
20 £ H 137 159 296
= P 83 92 175
T = H 707 831 1,538
INEF 1,159 1,338 2,497
18,047 19,421 37,468
5 z RE

o h X Bl & §%F 4 = = 7,400 8,091 15,491
M T # 6,563 6,899 13,462
Bl = 4,084 4,431 8,515
Z= it 18,047 19,421 37,468




= =S A e =B (=) % =]
SA3FE6/1BIRE
S = X S a2
=& 1TH 135 143 278
=¥ 2TH 139 150 289
= 3 TBH 86 73 159
=k 4 TH 71 71 142
=5 TH 15 20 35
INET 446 457 903
W L HET 284 303 587
) 212 223 435
X # H 237 280 517
INET 733 806 1,539
B 5TH 122 150 272
B 4 H 248 259 507
& 5 H 168 164 332
INET 538 573 1,111
B £ H 153 186 339
F T 693 892 1,585
B/ s B 115 126 241
NGt 961 1,204 2,165
GRS 564 560 1,124
F T 466 534 1,000
MK 1,043 1,124 2,167
NG 1,509 1,658 3,167
N 306 343 649
R 337 378 715
g 5 E7 377 418 795
= JIl BT 500 483 983
N B 198 210 408
NG 1,718 1,832 3,550
B 128 135 263
m o4 W T 261 273 534
i & HT 255 279 534
NG 644 687 1,331
BB 199 204 403
10 rE H 1,530 1,592 3,122
11 L = H 2,760 3,006 5,766
12 E4] E3 550 555 1,105
13 & H 648 645 1,293
14 I W 600 604 1,204
15 B L M 194 183 377
16 = B 338 332 670
T =E H 1,345 1,471 2,816
7 A I 232 341 573
INET 1,577 1,812 3,389
= [ 255 264 519
A I 68 65 133
nm H 1,055 1,033 2,088
INET 1,123 1,098 2,221
S 51 58 109
R 43 51 94
e 138 147 285
£ H 138 160 298
= F 83 92 175
T & H 708 832 1,540
NGt 1,161 1,340 2,501
18,048 19,412 37,460
s i
o ith X I & £% 3 1 = I 7,406 8,090 15,496
i3] iH 6,558 6,892 13,450
) = 4,084 4,430 8,514
ES i 18,048 19,412 37,460




